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Section – A 

Analysis Skills 

Q1) A) Read the following passage and answer the questions that follow. (5 x 1 = 5) 

It was five minutes since Dasa was gone when the youngest son cried, ‘See 

there!’ Our of a hole in the compound wall a cobra emerged. It glided along          

towards the gate, paused for a moment to look at the gathering in the veranda with 

its hood half-opened. It Crawled under the gate and disappeared along a drain. 

When they recovered from the shock they asked, ‘Does it mean that there are two 

snakes here?’ The college boy murmured, ‘I wish I had taken the risk and 

knocked the water pot from Dasa’s hand, we might have known what it contained. 

i) From which lesson is this passage taken? 

ii) Who is the author? 

iii) What was seen out of the hole? 

iv) Where did the snake disappear? 

v) Why did the boy wish that he had knocked the water-pot? 

 B) Read the following passage and answer by choosing the right answer. (5 x 1 = 5) 

Indian culture has deep-rooted family values-parents make enormous sacrifices 

for their children, children consider it their duty to take care of aged parents.          

Unfortunately our attitude to the community is very different. We keep our homes 

spotlessly clean, when we go out we do not think twice before littering. We see 

serious problems around us but behave as if they are some one else’s                        

responsibility. 

In the West, individuals understand that they have to be responsible to their    

community.  They solve societal problems proactively. This is something we 

should learn. Successful societies are those that harmoniously combine loyalty to 

the family and loyalty to the community. 

a) How are Indian family values? 



i) culture  

ii) sacrifice 

iii) deep-rooted  

iv) careful 

b) How is Indian attitude towards the community? 

i) indifferent  

ii) littering 

iii) responsible 

iv) none of the above 

c) In the west, how are people towards the community? 

i) irresponsible 

ii) responsible 

iii) harmony 

iv) none of the above 

d) Loyalty to family and community makes a society. 

i) successful 

ii) problems 

iii) loyal 

iv) none of the above 

e) Synonym for the world ‘loyal’ is. 

i) kind 

ii) good 

iii) accountable 

iv) faithful 

 Q2) A) Correct the following sentences. (5 x 1 = 5) 
a) She shed the crocodile tears. 

b) There is two apples on the table. 

c) My spectacles is in my pocket. 

d) None of the students done their home work. 

  

e) He do not like tea. 

  

 

B) Rewrite the sentences as directed. (5 x 1 = 5) 



a) Cows give milk. (change the voice) 

b) He went out. (add a question tag) 

c) “I want that toy”, said the boy. (change into indirect speech) 

d) My sister is taller than me. (change into positive degree) 

e) She did not return even at seven in the evening. (change into a complex            

sentence) 

 C) Change into direct speech. (2 x 1 = 2) 

a) Rahul told Rohan to give him the book. 

b) The woman told him to come the next day. 

 D) Fill in the blanks with correct forms to verbs given in the brackets. (5 x 1 = 5) 

a) I __________ (work) on the project now. 

b) They ________ (prepare) for the exam well. 

c) She __________ (like) soup. 

d) John __________ (play) the violin. 

e) We ________ (launch) a new programme. 

 E) Fill in the blanks with suitable words given at the end of the list. (5 x 1 = 5) 

a) He said he would _________ the picture. 

b) They must ________ their decision. 

c) You need not __________ my permission. 

d) I will ___________ my work tomorrow. 

e) I could __________ heavy weights. 

(complete, ask, paint, lift, make) 

 F) Rewrite the following set of jumbled sentences to make a coherent passage.  (3) 

a) The next year did better still. 

b) Farming was once a holy art. 

c) In the first season my crop was good enough. 

d) I learnt to plant only a small piece of ground. 

e) People farm today with haste and thoughtlessness. 

   

 G) Write a dialogue between a mother and daughter discussing good habits.  (3) 

 H) Write a paragraph using the following hints.  (6) 



Women is not a commodity – generations of exploitation – freedom to choose her 

career, partner – better families – better society – better world – reforms in 21
st
 

century.  

Section – B 

Descriptive Skills 

Q3) Write an essay on ONE of the following: (1 x 5 = 5) 

a) Sketch the character of Dolly. 

b) Bring out Nehru’s good qualities from his letter. 

c) How does Churchhill’s speech inspire? 

Q4) Write short notes on any three of the following: (3 x 3 = 9) 

a) What is the central idea of the poem,, ‘On killing a tree’. 

b) What is the significance of the title, ‘Piano and drums’. 

c) Why does Masefield want us to laugh and be merry? 

d) Is Milton happy to be twenty – three. 

e) Summarize the poem, ‘Sonnet to Science’. 

Q5) Write an essay on one of the following: (1 x 4 = 4) 

a) Discuss the appropriateness of the title, ‘Lemon; Yellow and Fig’. 

b) Bring out the universal truth in, ‘God sees the truth but waits’. 

c) Narrate the story, ‘The Open Window’ in your own words. 

Q6) a) Explain any two of the following: (2 x 2 = 4) 

i) My sister’s coming over first. 

ii) I do wrestle a bit. 

iii) You don’t own the whole house, do you? 

 b) Explain any one of the following: (1 x 4 = 4) 

i) Small is the worth 

Of beauty from the light retired. 

ii) Join the jubilant song of the great stars sweeping by. 
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Q1) D {Mìü…¨ ç³§éÅËÌZ JMæü§é°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆæÿÅÐ@þ¬ {ÐéÄæý$$Ðèþ$$. (6) 

a) Ñç³È™èþ {ç³†¿êçÙ ÌôýÑ$sìýMìü ¯èþ$ÇÓ¯é£æþ Æÿ$*ç³#{™èþV> 

{™èþ ç³ÇçÙÓ…Væü çÜ$Q…º$ õÜ Mö¯èþ$Ðèþ$$ Ðèþ$$M>¢àÆæÿ MæüÆæÿ*µÆæÿ Ýë… 

{§æþç³Æ>Væü {ç³çÜÆæÿ…º$ ^èþ…§æþ¯èþÐèþ$$ è̂þ…{§æþgZÅ™èþ²Äæý$$…º${™èþV> 

{™èþ ç³ÇçÙÓ…VæüÐèþ$$¯èþr$Ï iÐèþ#ËMæü$ çßý–§æþÅ…^óþ Mæüyæþ$¯Œþ Ô>™èþÐóþ$ 

 

b) AÆæÿÄæý$Ñ$gôýíÜ MøyæþË¯èþ Mæüç³šyæþ$ §éíÜVæü gôýòÜ¯èþÐèþ$Ãà 

ç³#Ææÿ$çÙ$° ´ëÍMìü… º™èþ$Ë$ ÐøÐèþVæü ÒÆæÿË™ø¯èþ Äôý$¯èþ$gñý 

^ðþÓÆæÿ f° MørÆæÿ…º$ §æþVæü gôýÄæý$$§æþ$¯ø Äæý$r$V>Mæü´ëyìþOÐðþ$ 

ÐèþÆæÿÐèþ#yæþ Ððþ*yìþ ^óþÄæý$$§æþ$¯ø ÐéÇMìü Ðèþ*«§æþÐèþ °ÔèýaÆÿ$$…ç³#Ðèþ* 

 

Q2) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ Æðÿ…yìþ…sìýMìü ‘B’ ¿êVæü… ¯èþ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$  

 {ÐéÄæý$$Ðèþ$$.   (4 x 2 = 8) 

‘A’ ¿êVæü… 

a) çÜ*¯@þ–™èþ ÐéMæüÅÐèþ$$ ÐóþË$ ^èþ*yæþVæü¯Œþ 
b) ÐéÆæÿ$ {»êçßýÃ×ý$Ìôý Äôý$MîüOyðþ¯èþ òOòÜÇ…ç³Væü¯Œþ 
c) °ç³š¯èþ gñý§æþË…r$¯óþ 
d) H¯èþ$Væü$ ¨¯èþ² ÐðþËVæüç³…yæþ$ ¯éVæü¯öç³š 

 



‘B’ ¿êVæü… 

a) DçÜ$ÆøÐèþ$° Ðèþ$¯èþ$çÙ$Ë$…sôý §óþÔèýÐóþ$Væü† »êVæü$ç³yæþ$¯øÄŒý$ 
b) ^éÐèþÌôý§æþ$ B…{«§æþ$Ë Ðèþ$çßZfÓË ^èþÇ{™èþ 
c) íÜÇÄñý$¿ZVøç³Ë¼ªMìü iÐèþVæü‚ýÊ 
d) ™èþÍÏ è̂þËÏ°{õ³Ðèþ$ ÐðþÍÏ ™éÇ¯èþÄæý$r$Ï 

Q3) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü ‘B’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐèþ*«§é¯éË$ 

 {ÐéÄæý$$Ðèþ$$.   (2 x 6 = 12) 

‘A’ ¿êVæü… 

a) »ñýfj Ðèþ$à§óþÑ Ðèþ–™é¢…™èþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
b) ÔèýMæü$…™èþË §æþ$çÙÅ…™èþ$° çÜ¿æýÌZ {ç³çÜ…W…_¯èþ A…Ô>ÌôýÑ? 

‘B’ ¿êVæü… 

a) ÕÐèþ´ëÆæÿÓ™èþ$Ë$ _Ææÿ$ ™ö…yæþ¯èþ…¼ §æþ…ç³™èþ$Í² ç³È„ìü…_¯èþ Ñ«§æþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
b) {§úç³¨ ™èþ¯èþ ¿æý…Væü´ër$¯èþ$ }Mæü–çÙ$~̄ èþMæü$ ^ðþí³µ̄ èþ Ñ«§æþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 

Q4) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü ‘B’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐèþ*«§é¯èþÐèþ$$ 

 {ÐéÄæý$$Ðèþ$$.   (2 x 6 = 12) 

‘A’ ¿êVæü… 

a) §óþÔèý¿æýMìü¢ VóüÄæý$ ÝëÆ>…ÔèýÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
b) Æ>Äæý${́ ùË$ ÐéÆæÿ$ B…{«§æþ$Ë Væü™èþ OÐðþ¿æýÐèþÐèþ$$¯èþ$ MîüÇ¢…_¯èþ Ñ«§æþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

‘B’ ¿êVæü… 

a) ÑÔèýÓ¯é£æþÐéÇ Mìü¯ðþ²ÆæÿÝë° ¯èþyæþMæüËÌZ° Ýû…§æþÆæÿÅÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
b) AÆæÿ$…«§æþ¡ çÜ$™èþ$yæþ$ Væü¼¾Ë…™ø ïÜÓÄæý$ Ðèþ–™é¢…™é°² Ñ¯èþ²Ñ…^èþ$Mæü$¯èþ² Ñ«§æþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 

Q5) D {Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é¯éË$ {ÐéÄæý$$Ðèþ$$.  (2 x 6 = 12) 

a)  C…¨Ææÿ ´ë{™è  ÑÕçÙt™èþ¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 



b) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ ¯èþÐèþËÌZ {ç³†çœÍ…^ðþ Ýë…íœ$Mæü ç³ÇíÜ®™èþ$Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
c) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ ¯@þÐ@þË §éÓÆ> Ææÿ^èþÆÿ$${† çÜÐèþ*gê°Mìü_ā èþ çÜ…§óþÔèýÐóþ$Ñ$? 
d) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ ¯èþÐèþË ¯éÐèþ$ÝëÆæÿ®MæüÅ™èþ¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 

Q6) D {Mìü…¨ Ðé°ÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈ M>ÆæÿÅÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$.  (5 x 2 = 10) 

a)  Mæü×êÓ{ÔèýÐèþ$…º$ 
b) «§æþÆóÿÃ™èþÆæÿ 
c) CMæüPÐèþ*Ææÿ$yæþ$ 
d) Ðèþ$$RêÆæÿÑ…§æþ$yæþ$ 
e) EVæü$YË$ ÐøíÜ 
f) Mæü$Ìê…Væü¯èþ 
g) _{™èþÐèþ$$Ë Äæý*Mæü–† 
h) ÐèþË_¯èþr$Ï 
i) A¯èþ²§æþÐèþ$$ÃË$ 
j) ^ðþ ð̂þa‚ý 

 

Q7) D {Mìü…¨ Ðé°ÌZ I¨…sìýMìü Ñ{VæüçßýÐéMæüÅÐèþ$$Ë$ {ÐéíÜ çÜÐèþ*çÜÐ@þ¬Ë$ ™ðþÍÄæý$gôýÄæý$$Ðèþ$$.  (5 x 2 = 10) 

a)  ¨ÐèþÅ§æþ–íÙt 
b) ç³§éÃ„ìü 
c) A¯èþ$¨¯èþÐèþ$$ 
d) AçÜ™èþÅÐèþ$$ 
e) Ðèþ*r¯óþÆæÿµÇ 
f) ™èþ´ùÐèþ¯èþÐèþ$$ 
g) ^èþ…{§æþçÜ*Ææÿ$ÅË$ 
h) ç³…Mæüf¯é¿æý$yæþ$ 
i) ÐóþÆÿ$$Vø{™èþÐèþ$$Ë$ 
j) BËÐèþ$…§æþ  
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Q1) {H$Ýht VrZ H$s gÝX ©̂ g{hV ì¶m»¶m H$s{OE& (3 × 3 =9) 
a) {Og g‘mO H$mo bmoJ AnZr PyR>o àe§gm gwZH$a àgÞ hmoVo h¢, dh g‘mO Ho$ àe§gZr¶ Zht 

g‘Pm OmVm& 
b) ^maVr¶ gm{hË¶ H$mo EH$Vm H$m AmXoe gX¡d h‘mao amḯ>r¶ EH$Vm Ho$ {bE Aj¶ lmV ahm h¡ Am¡a 

ahZm Mm{hE& 
c) AÀN>r H${dVm Aä¶mg go Zht AmVr& 
d) B©î¶m ‘Zwî¶ H$m Mm[a{MH$ Xmf hr Zht, àË¶V, Bggo ‘Zwî¶ H$m AmZÝX ‘| ^r ~mYm nS>Vr h¡& 

OZ ^r ‘Zwî¶ Ho$ öX¶ ‘| B©î¶m H$m CX¶ hmoVm h¡ gm‘Z H$m g¶ Cg ‘mÜ¶‘ gm {XIZo bJVm h¡& 
   

SECTION – B 

 

Q2) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) B©îem Vw Zm J¶r ‘oao {Xb go& 
  b) ^maVr¶ gm{hË¶ H$s EH$Vm& 
 

Q3) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) ZrbH$mÝV& 
  b) H${d Am¡a H${dVm& 
 

Q4) {H$gr EH$ H$hmZr> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) RmHw$a H$m Hw$Am& 
  b) nwañH$ma& 
 

Q5) AnZr ~hZ H$s emXr na AnZo {‘Ì H$mo Am‘§{ÌV H$aVo hþE EH$ nÌ {b{IE& (10) 

(AWdm) 
Zm¡H$ar Ho$ {bE AmdoXZ nÌ XoVo hþE àYmZ AÜ¶mnH$ Ho$ Zm‘ na nÌ {b{IE& 

 



   
Q6) {H$Ýhr Xmo àíZmo§ H$m Odm~ Xg n§{º$¶m| ‘| {b{IE& (2 × 3 = 6) 

  a) hOmaqgh H$m M[aÌ-{MÌU H$s{OE& 

  b) ‘Yy{bH$m H$m M[aÌ-{MÌU H$s{OE& 

  c) ‘mbVr H$m M[aÌ-{MÌU H$s{OE& 

  d) OmoIy H$m M[aÌ-{MÌU H$s{OE& 

  

Q7) g~ àíZm| H$m {bIZm A{Zdm¶© h¢& (10 × 1 = 10) 

  a) eoa O§Jb ‘| ahVm h¡& ({b§J ~XbH$a {b{IE&) 

  b) bS>H$m emoa ‘MmVm h¡& (dMZ ~XbH$a {b{IE&) 

  c) am‘ nmR> nT>Vm h¡& (dm³¶ ~XbH$a {b{IE&) 

  d) gabm CnÝ¶mg nT>Vr h¡& (^{dî¶V H$mb ‘| {b{IE&) 

  e) CgZo ImZm ImVm h¡& (dm³¶ ewÕ H$s{OE&) 

  f) {H$Vm~ ‘oO ---------- h¡ (H$maH$ {Mh²Z {b{IE&) 

  g) am‘ XeaW H$mo nwÌ h¡& (ewÕ H$s{OE&) 

  h) ‘¢Zo EH$ Am‘ Im¶m& (nyU© ŷVH$mb ‘| {b{IE) 

  i) bS>Ho$ ‘¡XmZ ‘| IobVo h¢& (dMZ ~XbH$a {b{IE&) 

  j) Wall (Bg eãX H$m AW© {hÝXr ‘| {b{IE&) 

   

Q8) {H$Ýht Xmo eãXm| H$m AW© {hÝXr ‘| {bIH$a dm³¶m| ‘| à¶moJ H$s{OE& (2 × 2½ = 5) 

a) H«$moY 
b) Ama§̂  H$aZm 
c) AZŵ d 
d) ¶k 
e) ‘wgr~V 
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    Answer the following   

 

Q1) a) Describe the criticism of Siva by the celibate to turn Parvati’s Mind? (8) 

   ~«÷Mm[aUm H¥$Vm§ {ed{ZÝXm§ {deX¶V? 
OR / AWdm 

  b) Write the story of Mritojjivana? 

   “‘¥VmoÁOrdZ§”Zm‘monm»¶mZ§ {bIV& 
 
Q2) a) Explain the condition of the people in the Kingdom of Dasaratha? (8) 

   XeaWñ¶ amÁ¶o àOmZm§ pñWqV {dd¥UwV? 
OR / AWdm 

  b) Explain the qualities of a scholar according to Viduraniti? 

   {dXþaZr{V‘Zwg¥Ë¶ npÊS>VbjUm{Z {deX¶V? 
 
Q3) a) Explain the favour done to the brahmin by Rajavahana. (8) 

   amOdmhZH¥$Vm§ {ÛOmonH¥${V {deX¶V? 
OR / AWdm 

  b) Write the story of “ MVwa: eeH$:” 

   “ MVwa: eeH$:” - B{V H$Wm§ {bIV& 
 
Q4) Answer the following with reference to the context. (any 3) (3 × 4 = 12) 

  gg§X ©̂ {bIV& 
a) YZ¡íM gÄM¶¡íMmÝ¶¡: eH« d¡ldUmon‘:&$ 
b) AZmhÿV: à{de{V An¥ï>mo ~hþ ^mfVo& 
c) eara‘mÚ§ Ibw Y‘©gmYZ‘²& 
d) {d{ZJ©Vmo Yy‘ Bdmd^mgo& 
e) {dÝÜ¶mQ>dr‘Ü¶o ^dmZ² {H${‘Ë¶oH$mH$s {Zdg{V& 
f) AmË‘mW} n¥{Wdr§ Ë¶OoV²& 
g) ZjÌmUrd MÝÐ‘m:& 
h) {ZpÝXVm{Z Z godVo& 
 



      
Q5) Translate any two into English or Telugu : (2 × 3 = 6) 

  AmÝY«̂ mf¶m dm Am§½b^mf¶m dm AZwdmX§ {bIV& 

  a) VoW gË¶m{^g§YoZ {ÌdJ©‘Zw{Vï>Vm& 

   nm{bVm gmnwar loï>m BÝÐoUm‘amdVr&& 

    

  b) ¶ñ¶ H¥$Ë¶§ ZYmZpÝV ‘ÝÌ§ dm ‘pÝÌV§ nao& 

   H¥$V‘odmñ¶ OmZmpÝV g d¡ npÊS>V CÀ¶Vo&& 

   

  c) A{‘Ì§ Hw$éVo {‘Ì§ {‘Ì§ Ûo{ï> {hZ[ñV M& 

   H$‘© Mma^Vo Xþï>§ V‘mhþ‘y©T>¶oVg‘²&& 

    

  d) à¶w³V gËH$ma {deof‘mË‘Zm Z ‘m§na§ g§à{VnÎmw ‘h©{g& 

   ¶V: gVm§ g§VVJm{Ì, g§“V§ ‘Zr{f{^ gmánXrZ ‘wÀ¶Vo&&  

Q6) a) Write the forms of any three in the other numbers of the given persons. (3 × 2 = 6) 

   Ì¶mUm§ BVadMZofw ê$nm{U {bIV& 

1) J{‘î¶{V 
2) ^dVw 
3) Aní¶V² 
4) b^o 
5) EoÀN>>V² 
6) ^mfo 
7) {bIm‘ 
8) {Vð>{V 

  b) MVwUmª VÎm{Û^{º$fw ê$nm{U {bIV& (4 × 2 = 8) 

1) am‘oU 
2) ’$bñ¶ 
3) H$d¶o 
4) YmVma‘² 
5) Xodo 
6) {nÌo 
7) d[aUm 
8) ZXr 

  c) Combine any four : 

   MËdm[a gÝYÎm&  (4 × 2 = 8) 



1) H${n + B©e: 
2) Zd + CX¶: 
3) Jwé + Amkm 
4) VV² + Q>rH$m 
5) Hw$d©Z² + Ed 
6) fQ>² + ‘wI: 
7) VV² + b¶: 
8) Z¥n: + O¶{V 

  d) Dissolve any three : (3 × 2 = 6) 

   Ì¶mUm§ {dJ«hdm³¶m{Z {bIV& 

1) g‘j‘² 
2) JwéX{jUm 
3) Zaqgh: 
4) Hw$å^H$ma: 
5) am‘H¥$îUm¡ 
6) grVmn{V: 
7) {dÚYZ‘² 
8) AY‘©: 

��� 
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   SECTION – A (2 x 13 = 26)  

Answer any two of the following  
     , 

Q1) Describe the Vedic Culture and its importance. 

 OÐðþ¨Mæü çÜ…çÜP –†° ÑÐèþÇ…_ §é° Ë„æü×êË¯èþ$ ™ðþËç³…yìþ. 

 

Q2) Describe the influence of Islam on Indian culture. 

 ¿êÆæÿ™èþ çÜÐèþ*fÐèþ$$òO ò³ CÝëÏÐŒþ$ {ç³¿êÐèþÐèþ$$¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

 

Q3) Describe evolution of caste system. 

 Mæü$ËÐèþÅÐèþçÜ¦ Äñý$$MæüP ç³Ç×êÐèþ*Ë¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

 

Q4) Describe the culture achievements under the Guptas administration. 

 Ýë…çÜP –†Mæü Ææÿ…Væü…ÌZ Væü$çç³#¢Ë$ Ýë«̈ …_¯èþ ÑfÄæý*Ë¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

 

Q5) Explain rise of Indian Nationalism. 

 gê¡Äñý*§æþÅÐèþ$Ðèþ$$¯èþ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

    
Q6) Write a note on Eradication of untouchability. 

 A…rÆ>° ™èþ¯èþÐèþ$$ °Ææÿ*ÃË¯èþ Væü*Ça JMæü ÐéÅçÜÐèþ$$¯èþ$ {ÐéÄæý$$Ðèþ$$. 

   SECTION – B (3 x 4 = 12)  

Write short notes on any three of the following questions 

 
Q7) Vardhamana Mahavira. 
 ÐèþÆæÿªÐèþ*¯èþ Ðèþ$àÒÆæÿ. 
 

Q8) Din-I Ilahi. 



 ¨¯ðþ Æÿ$$ Ìêíßý. 

Q9) Jainism. 

 Ogñý¯èþÐèþ$™èþÐèþ$$. 

 

Q10) Bhakthi Movement. 

 ¿æýMìü¢ E§æþÅÐèþ$Ðèþ$$. 

  

Q11) Theosophical society. 

 «̈ Äñý*ÝëíœMæüÌŒý Ý÷OòÜsìý. 

 

Q12) Rama Krishna Paramahamsa. 

 Æ>Ðèþ$Mæü–çÙ~ ç³ÆæÿÐèþ$çßý…çÜ. 

    

Q13) Struggle against caste. 

 Mæü$ËÐèþÅ†ÆóÿMæü ´÷Æ>r…. 

Q14) Non violence. 

 Aíßý…çÜ. 

   SECTION – C (12)  

Q15) Fill in the blanks: 

 RêäË¯èþ$ ç³NÇ…ç³#Ðèþ$$: 

a) Arya Samaj was founded by ____________ 

BÆæÿÅçÜÐèþ*fÐèþ$$ GÐèþÇ §éÓÆ> Ýë¦í³…^èþºyðþ¯èþ$ ____________ 

b) Kautilya wrote ____________ 

MúsìýË$Å° {Væü…£æþÐèþ$$ ____________ 

c) Sultans originally came from ____________ 

çÜ$Ìê¢̄ èþ$Ë$ H {́ ë…™èþÐèþ$$¯èþMæü$ ð̂þ…¨¯èþÐéÆæÿ$ ____________ 

d) Ashoka’s inscriptions were in  ____________ language. 

AÔZMæü$° çÜ*¢ç³Ðèþ$$Ë$ H ¿êçÙÌZ VæüËÐèþ# ____________ 

 

Q16) Choose the correct answer: 

 çÜOÆðÿ¯èþ çÜÐèþ*«§é¯èþÐèþ$$¯èþ$ Væü$Ç¢…ç³#Ðèþ$$: 



a) Oldest veda was 
i) Yajur veda 

ii) Sama veda 
iii) Atharvana veda 

iv) Rug veda 

 a) ç³#Æ>™èþ è̄þ Ðóþ§æþÐèþ$$ 

i) Äæý$fÆŠÿ Ðóþ§æþ 
ii) ÝëÐèþ$ Ðóþ§æþ 
iii) A«§æþÆæÿÓ¯èþ Ðóþ§æþ 
iv) º$$VóüÓ§æþÐ@þ¬ 

b) Poet of Krishna Deva Rai 

i) Tenali Ram 

ii) Tulsi Das 

iii) Kabir Das 

iv) Ameer khusro 

 b) Mæü–çÙ~§óþÐèþÆ>Äæý$$° MæüÑ 

i) ™ðþ¯éÍÆ>Ð@þ$ 
ii) ™èþ$ËíÜ§éçÜ$ 
iii) Mæü½Ææÿ$§éçÜ$ 
iv) AÑ$ÆŠÿ Mæü${Ý÷ 

c) Great bath was discovered at 
i) Harappa 

ii) Lothal 

iii) Mohenjadaro 
iv) Kalibangam 

 c) Vöç³š Ýë²̄ èþÐésìýMæü 

i) çßýÆæÿç³µÿý 
ii) ÌŸ£æþÌŒý 
iii) Ððþ$$çßý…f§éÆö 

iv) M>Í¿æý…VæüÐŒþ$ 
d) The first kingdom established in South 

i) Cholas 

ii) Satvahanas 

iii) Kakatiya 

iv) None 

 

d) §æþ„ìü×ýÐèþ$$¯èþ$ Ýë¦í³…^èþºyìþ¯èþ Ððþ$$§æþsìý Æ>fÅÐèþ$$ 

i) ^øâæý 
ii) Ô>™èþÐéçßý¯èþ 



iii) M>Mæü¡Äæý$ 
iv) H¨M>§æþ$ 

 

Q17) Match the following: 

a) Satya graha  i) Ganga 

b) Magadh  ii) Rudrama devi 

c) Kalinga  iii) Revenue assignment 

d) Marco polo  iv) Gandhiji 

v) Odisha 

vi) Heriditary system 

 {Mìü…¨ Ðésìý° f™èþç³Ææÿ è̂þ$Ðèþ$$: 

a) çÜ™éÅ{Væüçßý i) Væü…V> 
b) Ðèþ$Væü§æþ   ii) Ææÿ${§æþÐèþ$§óþÑ 
c) Mæüã…Væü   iii) ÆðÿÐðþ¯èþ*Å Aç³µW…™èþË$ 
d) Ðèþ*Ææÿ$P´÷ÌŸ  iv) V>…«©i  

    v) JyìþÝëÞ 

     vi) Heriditary system 
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    SECTION – A (8 x 3 = 24) 

Answer all questions 

All questions carry equal marks 

 

Q1) Solve (3 2 5) ( 2 3 7) 0x y dx x y dy− + + − + + = . 

 (3 2 5) ( 2 3 7) 0x y dx x y dy− + + − + + =  @̄þ$ Ýë«̈ …^èþ…yìþ. 

 

Q2) Solve 2 2 2 22 ( 1)y pxy p x m− + − =  

 
2 2 2 22 ( 1)y pxy p x m− + − =  ¯èþ$ Ýë«̈ …^èþ…yìþ. 

  

Q3) Solve 3(D 1) 0y− = . 

  3(D 1) 0y− =  ¯èþ$ Ýë«̈ …^èþ…yìþ. 

  

Q4) Solve  3 5(D 3D 2) xy e− + = . 

 3 5(D 3D 2) xy e− + =  è̄þ$ Ýë«̈ …^èþ…yìþ. 

 

Q5) Every subgroup of an abelian group is normal. 

 Ñ°Ð@þ$Ä¶ý$ çÜÐ@þÊçßý… G Äñý¬MæüP {ç³† Eç³çÜÐ@þÊçßýÐ@þ¬ AÀË…ºÐ@þ¬. 



Q6) Find whether the permutation is even or odd. 

 
1 2 3 4 5 6 7 8 9

6 1 4 3 2 5 7 9 8

 
 
 

 

 “Mìü…¨ {ç³Ýë¢ÆæÿÐ@þ¬ çÜÇÄ¶ý*ÌôýM æü »ôýíÜÄ¶ý* ™ðþËç³…yìþ. 

 
1 2 3 4 5 6 7 8 9

6 1 4 3 2 5 7 9 8

 
 
 

 

Q7) Prove that curl grad 0φ = . 

 curl grad 0φ =  A° °Ææÿ*í³…^èþ…yìþ. 

Q8) Find the greatest value of the directional derivative of the function 2 3f x yz=  at 

(2,1, 1)− . 

 (2,1, 1)−  ¼…§æþ$Ð@þ# Ð@þ§æþª 2 3f x yz=  Äñý¬MæüP VæüÇçÙx O§ðþÕMæü Ð@þ#Å™èþµ̄ @þ²… Mæü¯@þ$MøP…yìþ. 

   SECTION – B (4 x 1
2

11  = 46) 

Answer all questions 

All questions carry equal marks 

 

Q9) a) i) Solve 
( )2

2

1

4( 2)

x ydy

dx x

+ −
=

− . 

   
( )2

2

1

4( 2)

x ydy

dx x

+ −
=

−
 Ýë«̈ …^èþ…yìþ. 

  ii) Solve 2 (3 1) 0y dx xy dy+ − =  

   2 (3 1) 0y dx xy dy+ − =
 

è̄þ$ Ýë«̈ … è̂þ…yìþ. 

OR 

 b) i) Solve 
2 2

dx dy dz

y zx yz x x y
= =

− + +
 ¯@þ$ Ýë«̈ …^èþ…yìþ.   

  ii) Solve 3cos cos sin
dy

x y x x
dx
+ = ¯@þ$ Ýë«̈ …^èþ…yìþ.

 
 

 



Q10) a) i) Solve  2 3(D +6D +13) 8 sin 2xy e x=  ¯@þ$ Ýë«̈ … è̂þ…yìþ. 

  ii) 
2

2
4 cos 2

d y
y x x

dx
− =  @̄þ$ Ýë«̈ … è̂þ…yìþ. 

OR 

 b) i) Solve  
2

2
( sin cos ) cos cos 0

d y dy
x x x x x y x

dx dx
+ − + = . 

   
2

2
( sin cos ) cos cos 0

d y dy
x x x x x y x

dx dx
+ − + =

 
@̄þ$ Ýë«̈ … è̂þ…yìþ. 

  ii) Solve 2(D 1) secy x+ =  by the method of variation of parameters. 

   ç³Æ>Ñ$™èþ$Ë Ð@þ*Ææÿ$µ ç³§æþ®† ¯@þ$ç³Äñý*W…_ 2(D 1) secy x+ =  @̄þ$ Ýë«̈ … è̂þ…yìþ. 

 

Q11) a) i) Show that the necessary and sufficient condition for a finite complex H of a 

group G to be a subgroup of G is , H Ha b ab∈ ⇒ ∈ . 

   JMæü çÜÐ@þÊçßý…ÌZ° HO§ðþ¯@þ JMæü ç³ÇÑ$™èþ Eç³çÜÑ$† Eç³çÜÐ@þÊçßýÐ@þ¬ A¯@þ$rMæü$ BÐ@þÔ¶ýÅMæü 
ç³Æ>Åç³¢Mæü °Ä¶ý$Ð@þ$Ð@þ¬ , H Ha b ab∈ ⇒ ∈  A° ^èþ*ç³#Ð@þ¬. 

  ii) Prove that the union of two subgroups of a group need not be a subgroup of 
a group. Give an example. 

   JMæü çÜÐ@þÊçßýÐ@þ¬ Äñý¬MæüP Æðÿ…yæþ$ Eç³çÜÐ@þÊçßýË çÜÐóþ$Ãâ¶ý¯@þÐ@þ¬ B çÜÐ@þÊçßý… Äñý¬MæüP 
Eç³çÜÐ@þÊçßý… M>¯@þÐ@þçÜÆæÿ… Ìôý§æþ¯@þ$rMæü$ E§éçßýÆæÿ×ý °_a ÑÐ@þÇ…ç³#Ð@þ¬. 

OR 

 b) i) State and prove Lagranges theorem on subgroups. 

   Eç³ çÜÐ@þÊàÐ@þ¬Ë Ò$§æþ Ìñý“V>…h íÜ§é®…™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  ii) Prove that a subgroup N of a group G is a normal subgroup of G iff each 
left coset of N in G is a right coset of N in G. 

   çÜÐ@þÊàÐ@þ¬ G ÌZ Eç³çÜÐ@þÊçßýÐ@þ¬ N AÀË…º Eç³çÜÐ@þÊà… M>Ð@þsê°Mìü BÐ@þÔ¶ýÅM æü 
ç³Æ>Åç³¢ °Ä¶ý$Ð@þ$Ð@þ¬ G  ÌZ N Äñý¬MæüP {ç³† GyæþÐ@þ$ çÜçßýçÜÑ$† JMæü Mæü$yìþ çÜçßýçÜÐ@þ$† 
AVæü$r A° °Ææÿ*í³…^èþ…yìþ. 

 

Q12) a) i) If 2 2 2, ,a x y z b x y z c xy yz zx= + + = + + = + +  then prove that  

   {grad a grad b grad c} = 0 



       2 2 2, ,a x y z b x y z c xy yz zx= + + = + + = + +  AÆÿ¬™óþ  {grad a grad b grad c}= 

0   

  A° è̂þ*ç³…yìþ. 

  ii) Find the directional derivative of the function 2 2 2xy yz zx+ +  along the 

tangent to the curve 2 3, ,x t y t z t= = =  at the point (1, 1, 1). 

   (1, 1, 1) Ð@þ§æþª 2 3, ,x t y t z t= = = Ð@þ“M>°Mìü çÜµÆæÿØÆóÿQ ¨Ô¶ýÌZ 2 2 2xy yz zx+ +  
{ç³Ðóþ$Ä¶ý*°Mìü O§ðþÕMæü Ð@þ#Å™èþµ̄ @þ²… Mæü¯@þ$MøP…yìþ. 

OR 

 b) i) If 2F=( + ) 2 2x y i xj yzk− +  evaluate 
S

F.Nds∫  where S is the surface of the 

plane 2 2 6x y z+ + =  in the first octant. 

   2F=( + ) 2 2x y i xj yzk− +  AÆÿ¬ {ç³«§æþÐ@þ*çÙtÐ@þ$…ÌZ 2 2 6x y z+ + =  ™èþË ¿êVæü… S 

AÆÿ¬™óþ 
S

F.Nds∫  Æ>ºrt…yìþ. 

  ii) Verify Stokes theorem for ( ) 2 2A = 2x y i yz j y zk− − − , where S is the upper 

half of surface of the sphere 2 2 2 1x y z+ + =  and C is its boundary. 

 2 2 2 1x y z+ + =  A¯@þ$ Vøã FÆ>® ÓÆæÿ® ¿êVæü… S §é° ™èþËïÜÐ@þ$ C  AÆÿ¬™óþ  

 ( ) 2 2A = 2x y i yz j y zk− − −  ç{ç³Ðóþ$Ä¶ý*°Mìü ÝùtM ŠüÞ íÜ§é®…™èþ… çÜÇ^èþ*yæþ…yìþ. 

 

��� 
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      SECTION – A (2 × 7½ = 15) 
 Answer any Two questions  

Q1) State and prove Gauss theorem of divergence.  
  V>‹Ü OyðþÐ@þÆæÿj̄ ŒþÞ íÜ§é®…™èþÐ@þ¬¯@þ$ ™ðþÍí³ °Ææÿ*í³…^èþ$Ð@þ¬. 

.Q2) Derive the equation of rocket motion in gravitational field. 

  Væü$Ææÿ$™èþÓ „óü{™èþ…ÌZ ^èþÍ…^óþ Æ>MóüsŒý VæüÐ@þ$¯@þ çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 

Q3)  Deduce the equation of motion of a particle under central force. 
  Móü…{©Ä¶ý$ ºË… ç³Ææÿ…V> JMæü Mæü×ýÐ@þ¬ Äñý¬MæüP VæüÐ@þ$¯@þ çÜÒ$MæüÆæÿ×ê°² E™éµ̈ …^èþ$Ð@þ¬. 

Q4)  Explain  

 a) length contraction and  
 b) Time dilation 

 a) ´÷yæþÐ@þ# ÐéÅMø è̂þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ 
 b) M>Ë ÐéÅMø^èþÐ@þ¬Ë¯@þ$  
 ÑÐ@þÇ…^èþ$Ð@þ¬. 
 
      SECTION - B  
      Answer any Two questions (2 × 7½ = 15) 
 
Q5)  Derive differential equation of a simple harmonic oscillator and find its solution. 
  çÜÆæÿâ¶ýçßýÆ>™èþÃMæü yøË° AÐ@þMæüË¯@þ çÜÒ$MæüÆæÿ×ê°² E™éµ̈ …_ §é° ç³ÇÚëPÆ>°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

Q6)  State and explain fourier theorem.  
 ç³NÇÄñý* íÜ§é®…™é°² ™ðþÍí³ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q7)  Derive equation of transverse wave propagation along a stretched string and find its    

solution. 
 ÝëVæü©íÜ¯@þ ¡VæüÌZ {ç³ÝëÆæÿÐ@þ$Äñý$Å †ÆæÿÅMŠü ™èþÆæÿ…V>Ë çÜÒ$MæüÆæÿ×ê°² E™éµ̈ …_ §é° ç³ÇÚëPÆ>°² 

Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

Q8)  Explain production and detection of ultrasonics.  
 A†«§æþÓ¯@þ$Ë E™èþµ†¢ Ð@þ$ÇÄ¶ý¬ ÔZ«§æþ¯@þ¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

 



      SECTION - C  
      Answer any Five of the following  (5 × 4 = 20) 
 
Q9)  Explain the divergence of a vector field. 
  çÜ¨Ô¶ý „óü{™éç³çÜÆæÿ×ý¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q10) Write a note on precession of equinoxes.  
 ÑçÙ$Ð@þ™èþ$¢Ë ç³#ÆæÿçÜ¹Ææÿ×ý Væü*Ça Ëçœ¬ ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬. 

Q11) Define elastic constants and poisson’s ratio. 
 ííÜ®†Ýë¦ç³Mæü Væü$×ýM>Ë¯@þ$ Ð@þ$ÇÄ¶ý¬ ´ëÝëÓ¯Œþ °çÙµ†¢° °ÆæÿÓ_… è̂þ$Ð@þ¬. 

Q12) State special theory of relativity postulates. 
  {ç³™óþÅMæü Ýëõ³„æü íÜ§é®…™èþ {́ ëVæü$ç³¢M>Ë¯@þ$ ™ðþË$ç³#Ð@þ¬. 

Q13) Define and derive amplitude resonance equation. 
 Mæü…ç³¯@þ ç³ÇÑ$† A¯@þ$¯é§é°² °ÆæÿÓ_…_ çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 

Q14)  Define simple harmonic motion and write physical characteristics of SHM. 
  çÜÆæÿâ¶ý çßýÆ>™èþÃMæü ^èþË¯@þÐ@þ¬ A¯@þV>¯óþÑ$? §é° ¿o†Mæü AÀË„æü×êË¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

Q15)  Explain two coupled oscillators with an example. 
 E§éçßýÆæÿ×ýÐ@þ¬™ø ¨ÓÄ¶ý¬VæüÃ™èþ yøËM>Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q16)  Write the applications of ultrasonics.  
 A† «§æþÓ¯@þ$Ë A @̄þ$Ð@þÆæÿ¢̄ éË¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

      SECTION - D  
      Answer any Four questions  (4 × 5 = 20) 
 

Q17)  Estimate the mass of the seen assuming that the earth is revolving around it in a      
circular orbit of radius 1.5 × 1011M 

  ¿¶ý*Ñ$ çÜ*Ææÿ$Å° è̂þ$r*t 1.5 × 10
11 Ñ$ ÐéÅÝëÆæÿ®Ð@þ¬ VæüË Ð@þ–™é¢M>Ææÿ Mæü„æü ÅÌZ †Ææÿ$Væü$^èþ$¯@þ²§æþ° Ð@þNíßý…_ 

çÜ*Ææÿ$Å° {§æþÐ@þÅÆ>Õ° A…^èþ¯éÐóþÄ¶ý¬Ð@þ¬. 

Q18) A torque of 18 Nm is acting on a fly wheel of radius 0.8 m and mass 10 kg. Find its   
angular acceleration. 

 0.8 m ÐéÅÝëÆæÿ®Ð@þ¬ VæüË Væü†´ëËMæü ^èþ“Mæü… {§æþÐ@þÅÆ>Õ 10 kg §é° Oò³ 18 Nm sêÆŠÿP ç³° ^óþíÜ¯@þç³#yæþ$ §é° 
Mø×îýÄ¶ý$ ™èþÓÆæÿ×ýÐðþ$…™èþ? 

Q19) Area of cross – section of a steel wire is 10-6  m2 and its length is 5 m. To sketch it by 

0.005 m how much force is needed. 
 
 

 JMæü EMæü$P¡Væü Ð@þ$«§æþÅ»ôýe«§æþ OÐðþÔ>ËÅÐ@þ¬ 10-6  m2 §é° ´÷yæþÐ@þ# 5 m A¨ 0.005 m ÝëV>Ë…sôý G…™èþ ºÌê°² 
Eç³Äñý*W…^éÍ. 

Q20) To send an object from the surface of the earth, to a height equal to the three times the 

radius of the earth what is the initial velocity needed (radius of the earth R = 6400 km) 



 JMæü Ð@þçÜ$¢Ð@þ# ¿¶ý*™èþË… ¯@þ$…yìþ ¿¶ý* ÐéÅÝëÆ>®°Mìü Ð@þÊyæþ$ Æðÿr$Ï E¯@þ² G™èþ$¢Mæü$ ç³…ç³yé°Mìü AÐ@þçÜÆæÿÐ@þ$Äôý$Å 
™öÍÐóþV>°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. (ÐéÅÝëÆæÿ®… R = 6400 km) . 

Q21) Calculate the loss of mass in 50 gm of water while rolidifying at 0°C (specific heat of 

water 80 cal/gm) 

 50 “V>Ð@þ¬Ë ±Ææÿ$ 0°C Ð@þ§æþª çœ$±¿¶ýÑ… ó̂þrç³šyæþ$ A¨ MøÌZµÄôý$ {§æþÐ@þÅÆ>Õ° Mæü¯@þVö¯@þ$Ð@þ¬ (Væü$´ù¢çÙ~Æ>Õ 80 

cal/gm)  

Q22) A spring with mass 0.5 kg is in oscillations at t = 0 If it displacement is 0.44 m and 

acceleration is -0.0176 m/sec
2
 What is the force constant of the spring. 

 JMæü {íÜµ…VŠü ¯@þ$…_ ÐóþÌêyæþ$™èþ$¯@þ² 0.5 kg {§æþÐ@þÅÆ>Õ yøË¯éË$ ^óþÄ¶ý¬^èþ$¯@þ²̈ . M>Ë… t = 0 §æþVæüYÆæÿ 
Ýë®̄ @þ{¿¶ý…Ô¶ý… 0.44 m ™èþÓÆæÿ×ý… -0.0176 m/sec

2
 AÆÿ¬ @̄þ {íÜµ…VŠü Äñý¬MæüP ºË íÜ®Æ>…MæüÐ@þ¬¯@þ$ ÌñýMìüP… è̂þ$Ð@þ¬.  

Q23) The Q factor of an oscillator is 400. Find the initial energy if its amplitude is 0.01 m. 
Also calculate the energy lost in the first cycle (S = mw2 = 100N/m)  

 JMæü yøË° Äñý¬MæüP  Q { ç³Ðóþ$Ä¶ý$Ð@þ¬ 400. Ð@þ$ÇÄ¶ý¬ Mæüç³¯@þ ç³ÇÑ$† 0.01 m AÆÿ¬ @̄þ {́ ëÆæÿ…¿¶ý Ô¶ýMìü¢ 
Ð@þ$ÇÄ¶ý¬ ™öÍ yøË¯@þ…ÌZ MøÌZµÆÿ¬¯@þ Ô¶ýMìü¢° ÌñýMìüP…ç³#Ð@þ¬. 

Q24) A quarty crystal of thickness 3 mm is vibrating at its natural frequency. If the young’s 

modulus of the crystal is 7.9 × 10
10

 N/m
2
 and its density is 2650 kg/m

3 
Calculate the 

resonant frequency of the crystal. 
 3 mm Ð@þ$…§æþÐ@þ¬VæüË JMæü M>ÅÆæÿt›j çÜµsìýMæüÐ@þ¬ §é° çÜçßýf ´û¯@þ] ç³#¯@þÅÐ@þ¬ ™ø Mæü…í³… è̂þ$¯@þ²̈ . §é° Äñý¬MæüP 

Ä¶ý$…VŠü Væü$×ýMæü… 7.9 × 10
11

 N/m
2 Ð@þ$ÇÄ¶ý¬ Ýë…{§æþ™èþ 2650 kg/m

3 AÆÿ¬ @̄þ B çÜµsìýMæüÐ@þ¬ Äñý¬MæüP 
A¯@þ$¯é§æþ ´û¯@þ] ç³#¯éÅ°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
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SECTION – A 

 

                            Answer any three Questions                                        (3 × 16 = 48) 

 

Q1) Write down the merits and demerits of secondary storage devices.  

    
Q2) Write a procedure to create macro with dialogboxes.       

 

Q3)  What is a function? Give an examples for statistical  functions, mathematical functions, and 

text functions in Excel.   

 

Q4) What do you mean by array? What are the various types of array? Explain each with example.       

 

Q5) Differentiate between structure and union.          
                                                     

    

 

 

   

SECTION – B 

 

                                                              Answer any Four Questions                                            (4 ×3 = 12) 

 

Q6) What is the role of Visual Display unit? Discuss the types of monitors.     

 

 

Q7)  Write any three internal commands of DOS.   

 

 

 Q8)  Write steps to create a new slide and delete a slide? 

 

 

Q9) Write a procedure to create Query. 

 

 

Q10) What are relational operators? Explain with examples. 

 

 

Q11) Explain about Enumeration types.   

 



         

SECTION – C 

 

                Answer All Questions                                           (10 ×1 = 10) 

 

Q12)  What is the use of mouse? 

 

 

 Q13) What is the use of recycle bin?  

 

 

Q14) What is slide sorting?      

    

 

Q15)  Define mail merge?      

 

 

Q16)  What is primary key?  

 

 

 Q17) Define relational databases.      

 

 

Q18) What is work sheet?         

 

 

Q19)  What is variable in ‘C’ language?      

 

 

Q20) What is the use of printf ( ) statement?          

 

 

Q21)  What is preprocessors?       
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